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U.G. 4th Semester Examination - 2024
GEOGRAPHY
[HONOURS]

Generic Elective Course (GE)
Course Code : GEOH-GE-T-2(A, B & )
[New Syllabus under CBCS]

Full Marks : 60/40 Time : 23 Hours

The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in
their own words as far as practicable.

Answer all the question from Selected Option.

OPTION-A
Course Code : GEOH-GE-T-02A

(Geospatial Technology)
[Marks : 60]
1. Answer any tem questions: 2x10=20
- 7S e Ten we ¢
a) ~What is radiometric resolution?

Ferle @rEEeHw 52

b) State the relationshiia between frequency and
wavelength in electromagnetic radiation.
ofbe padin Rivar freak R s
TG AL 76 | ;
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What is atmospheric window?

FPReAT TwE &Fe

What is scattering of light?

s Rewd foe

Mention the: wavelength of near infrared
region in electromagnetic spectrum.
Electromagnetic Spectrum ¢ NIR S OF%
e T 9|

What is geocoding?

~ Geocoding 53

g2)

h)

)

k)

585/Geog.

Which type of sensor is used to detect thermal
radiation emitted by objects?

% ol R siew e @ &
P JIYT A 22

Write one difference between spectral
signature curves of vegetation and water.
©fen @ TETa CoIRGE Fisinia IR T
@36 AL @ |

What is the role of texture in visual image
interpretation?

oge 2o [eEe GHeR 7 ohi e
Which IRS satellite carries the WiFS?

@ IRS T#i5z WiFS 32 FA 2

Mention two uses of GPS in GIS.

& w2 @ @3 oFa & & 9w 9 I3g9
A=

[2]

b

0)

What is IFOV?
IFOV f&2

What is Spheroid?
Spheroid &2 |

Write any two significant applications of
remote sensing in agriculture.

JRCFE q7 ACWET @RI 5o @wvff
QS AT |

What is TIN?
TIN &2

2.  Answer any four questions: 5x4=20
@I b1 2w Teg we ¢

a)

b)

d)

585/Geog.

Describe the scope of geospatial technology
in cartography.

Wﬂﬁwwﬁaﬁﬁ{i@mmmﬁf @ |

Elaborate the merits and demerits of raster
data structure.

AV (COR AR @ SEfRuelE e S
Explain the concept of topological modelling.

GeAEERTE Aok  z 4=l F IE
Illustrate the function of DGPS.
DGPS-a3 e = w5l
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3. Answer any two questions:

Differentiate between WGS 84 and UTM.
WGS 84 @38 UTM &3 St “NeRfo et |
Describe the salient features of Landsat
system.

G FedeE Swmewey Rl 39w
A :
10x2=20

@I 45 evam T wis ¢

a)

b)

d)

585/Geog.

Analyse the impact of different remote
sensing platforms on environmental
monitoring effectiveness.

GvFEE o Rega |
Describe the development of web-based
platforms in geospatial technology.

vEifie afers err @@e Aibeni Traw
1 |

How do digital image processing enhance the
accuracy and efficiency of remote sensing
data analysis?

et 2ew amibi [T 1@ FE@ws (bt
Rz el ¢ IR o Fae
ARRY 2 \

Explain the application of remote sensing in
environmental disaster management.

i Rl IR CFE W AR
IS R [ |

[4]

Answer any ten of the following:

OPTION-B

Course Code : GEOH-GE-T-02B

(Regionai Development)
[Marks : 60]
2x10=20

@@ wifow Teg wie ¢

a)

b)

c)

d)

g)

h)

585/Geog.

What is a compage region?

AR ST I A2

Define an axial region.

PRI SR T WS |

Differentiate between macro and meso

regions.

| G 8 (T SR ey AL ot 391

What is flow analysis?

g ReE I e

What is meant by regional disparity?
i (@ e [ ERime
Define regionalisation.

AT AW WS |
What is decentralised planning?-

Retigs sfaesa e
What is meant by agglomeration in the Growth
Pole Theory?
3% (7% ©1g agglomeration 109 & (RN
{EAR?
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i)  What is a threshold area as mentioned in the
Growth Foci Model?
a3fa @m o TERS @HEre e iRt IS
QA2 :

i)  What is meant by village cluster?
e @S & @RI e

k) What is backward area?
PpIwow wieee] f[Fe _

1) Mention any two measures to attract
industries in backward areas.
BT BT P T IE TR G
@ @I i “Mafen S 39|

m) Why afforestation is needed in the catchment

area of Damodar River? .
VIGIME TAF 49 SRRARIE FHREIAD Geal
(e ? )

n) Define social well-being.

ANET GRIFHETSIR A WS |

0) What is multi-level planning?
IR ATEEA IIF @2 ,
2. Answer any four of the following: 5%4=20
Ava el @-IE SRbT Ted e -
a) Differentiate between subjective and objective
views of a region.
G [RETe G STEHRET AR T
Ny Fmee e |
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b)

d)

Describe the characteristics of an ideal
planning region.

awf o AR wwEE R e
TN

What is Fixed Index Method and Variable
Index Method?

e 5% *1%fS ¢ 2Afaasaite ;Mo Al I
A e

Highlight the objectives of regional planning.
wefere sifsemmin SrEerR Ko @
Describe any five indicators of regional
imbalances with suitable examples.

Il @A @ @ A e Soge
TuizaePiR 391 we |

Define Agro-Ecological Zones and state the

need for such zonation.

A SEARGITT T TR We ]
G2 e oA qreRmet @ |

3. Answer any two of the following: 10x2=20

qpa emiehr @@ uve Teq we ¢

a)

585/Geog.

Briefly discuss the methods of delineating
functional regions.

FyRIfeles S A Fote safemg
AT SN I |
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b)

d)

585/Geog.

Discuss the Growth Centre Model in the
Indian context.

Elucidate the criteria adopted after
independence in India for identifying

backward areas.

T ATIOIFIE SRS A5 T
firewaa o I3Te PpIel [Kge T

Discuss briefly the indices of human

development with suitable examples.

o SuizgPR WA SHEEE peelE
SIS T |

[8]

OPTION-C

Course Code : GEOH-GE-T-02C

(Environmental Geography)
[Marks : 40]
Answer any five questions:
@-I e e Ter wie ¢
a) What is food web?
s 52

2x5=10

b) What do you mean by Environmental

Geography?
AT g F@ce [ @Rty

c) Define ecology. |
IR T WS |

d) Who are 'consumers' in ecosystem?

JEFSFI (O] T2
e) Define Biome.
Biome 43 F<E&E 718 |
f) Define pollution.
TG K TG |
g) What is Community?

Community fF?
h) What are Autotrophs?
TG Iece & @Rie
585/Geog. [9]
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Answer any two questions: 5%2=10
-G 7fo e Teq whe 2

a) Distinguish between Ecotone and Ecological
Niche.

Ecotone 8 Ecological Niche @@ Wz #iteay
mster 3| |

b)  Explain in brief the causes of air pollution.
IRTICIF PG AT I

¢) Define wetlands and mention at least six
major Ramsar sites in India.

weigfiia K@l Me @ SRIeH W W dqw
Ramsar Sites 43 GrEe 39|
d) State the concept of elcosystem.
IFerE Gl e 4
Answer any two questions: 10x2=20
@G o efvew T Wie 3
a) Bring out the objective and function of MAB.
10

- MAB-97 T ¢ IRiefael fige 57|

b) Discuss the human-environment relationship
in coastal region. 10
TAGA ST M- T4 Sifgattoan
A

585/Geog. [10]

c) Analyse the causes and consequences of water
~ pollution. 5+5
TR P @ el RusEe s
d) Describe the characteristics of Taiga forest
biome. 10
ool Il IR RMEEF [ we |
585/Geog. [11]



